49/Hist. SKBU/UG-II/Hist/111(G)/20
2020
HISTORY
[GENERAL]
Paper : 111
Full Marks : 100 Time : 3 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any ten questions, each in more than one

sentence:

2x10=20

e emelerm s @-@iET w™itr kY Tex
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a)

b)

Who was Rouseau?

F & o

Who, in which year established 'University

of France'?
TRt o T @, @ afeD @

What was the 'Concordat' or Napoleon's

settlement with the Pope?

FAFGIG A AT € (ot e S
e
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d)

g)

h)

i)

k)
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Who were the 'Big-Fours' of the Vienna

Congress?

oAl FaE™ ig-agi e

Who was Louis Kossuth?

o L (T2

In which year did the Second Balkan War
take place? By Which treaty was it

concluded?

SR e @ (I A @RS 2 (@ piew
Bl afbw i 272

Which war is called the 'Battle of Nations'
and why?

@I @@ Gifs MEd T@ @l 2 GIR (&2
Who wrote the Communist Manifesto? In

which year was it published?

SRt WFEesm el s 3@ ab
aFifee 232

What is 'April Thesis'?

‘gfem =FPT e

What was the Spinning Jenny? Who invented
it?

Poife (@l e w7 wifwe @ FEkEE?
What is meant by 'Hundred Day's Rule'?
‘GRS TREE P e F @RI ?
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Who Promulgated the 'Carlsbad Decree' and
why?

@ FEPRG [TE b FE R (@2

Who wrote 'Mein Kampf'? When was it
published?

'Mein Kampf' 37 3512 @b @ gFifre =0
Name the member states belonging to the

two rival camps during the Second World
War.

AFefm IW T T4

What is International Court of Justice?
Where is it situated?

Teeifes orem Fe b @ s[Ee?

2.  Answer any six of the following questions:

6x6=36

foafaiie emeferm St @-@IE w1t geie Ted 7is ¢

a)

b)
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Why did Napolean introduce the Continental

system?
N (@ TR AT B, FCARE ?

How did Peninsular War precipitate the

downfall of Napoleon?

ACARE ?
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d)

g)

h)
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Why was the 'Concert of Europe' formed?
TCEIAR e MR @ 0w zrfwe ?

Discuss Cavour's contributions to Italy's

unification.

3o @ NI P M ([0
R

Why did the Industrial Revolution first appear
in England?

g R 300 (@ AU YD w2

Examine the significance of the Greek War

of Independence.

Now™ FETOl Jraa ol [ER 791

What were the factors behind the rise of

Fascism in Italy?

WA FFRITT TeEd oo SoAmNei F
fet?

Write a short note on Utopian Socialism.

IifE Meeg TE @3t 7Y Bl @l

What were the reasons for the success of
the Balshevik Revolution?

e [eEa AwEra FResl Jie
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i)

k)

)

Which period of Europe was known as the
'Age of Armed Peace' and why?

BTl @I T o #iifem 3o A sifafbe
R (el ?

Analyse the causes of the fall of Weimer
Republic in Germany.

TS SEWE AEeEd AeEd Il
9|

Why did the league of Nations fail?
oS- (@ Y T@E

3. Answer any four of the following questions:

11x4=44

fxfefee el g @@ v amg Tea wie ¢

a)

b)
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Write about the achievements of the French

Constituent Assembly. Name any one leading

members of the Constituent Assembly.
10+1=11

TR R el Flow sRiEma w4 ARG
MO @ (P TG (O N 9 |

Give an account of Napoleonic reforms.
When he ascended the throne?  10+1=11

@efeTa AHIET [(qd wie | o w2 Higgme
IR 2

Examine the significance of the Crimean War
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d)

g)
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in European history. How did this war help
the Italian unification movement?

10+1=11
BTEIeR SR fatmiz grad Sl #3m 91
a3 7 FONd 20R AF SRS AR
FeAfee 2

Write a short essay on Marxian Socialism.

Name two books written by Karl Marx.
10+1=11
TR AGoZAm TE I ARG e @Il |
e e afoe v acgm a0 @l
Discuss the background of the First World
War. What was the immediate cause of the
First World War? 10+1=11
A Reraa S0e SETbAl T 22 Rgeas
oy HlFe e ?

What is New Economic Policy of Lenin?

Examine the important features of Lenin's
'New Economic Policy'. 1+10=11
@R Tou wgafes it e @@ER o
wetafos Tfen wwesd el Aam w9

How did Hitler rise to power in Germany?

What is the name of his autobiography?
10+1=11
Frelta fEhanls wifice Faeiie 2 e $i7

G A Fl 2
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h)
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Discuss the background of the establishment
of the United Nations Organisations. Name
the permanent members of the Security
Council. 10+1=11

Affers wifosje AR (2FwoG SNETDA 9|
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